


i\

ot
Revision history
Revision Date Comment Chapter
01 27.10.10 New version All
02 18.04.11 Technical Data 2
03 22.10.12 Safety All
Service

In case you have technical questions,
please contact:

WITTENSTEIN alpha GmbH

Customer Service

Walter-Wittenstein-Straf3e 1

D-97999 Igersheim
Tel.: +49 7931 493-10900

Fax: +49 7931 493-10903
E-mail: service-alpha@wittenstein.de

© WITTENSTEIN alpha GmbH 2012
This documentation is copyright protected.

Op=;]0

240

(T Tube]

Motor mounting video

WITTENSTEIN alpha GmbH reserves all the rights to photo-mechanical reproduction,
copying, and the distribution by special processes (such as computers, file media, data
networks), even in parts.

Subject to technical and content changes without notice.

2022-D036009

103



ko-1

1.1

2.1
2.2
23
24
25
2.6
2.7
2.8
29

3.1
3.2
3.3
3.4
3.5
3.6
3.7
3.8
3.9
3.10
3.11
3.12
3.13
3.14

2022-D036009

:03



11

2.1

2.2

2.3

2.4

WITTENSTEIN  alpha

103

A B A
D / 314 " "
\
/ B
XX XXXX XX-XXXXX-XX i =XX
\ Lubricant C
DD \gN: 1234567
WITYENSTEIN | EIPNA OMF:05/12  Made in Germany D
WITTENSTEIN alpha GmbH/ Walter-Wittenstein-Str.1 - 97999 Igersheim E
/
E
Thl-1: (
[ J
° ( )
[ )
° /
[ )
[ J

2022-D036009

ko-2



wITTENSTEIN  alpha

e WITTENSTEIN alpha GmbH

2.5

K

AZ

( 23

ko-3 2022-D036009



2.6

2.7

2.8

2.9

& i
([ ]
( )
)
[ ]
[ ]
0°C~+40°C
[ ]
[ ]
@ 3 n "
500 3
3
X X X
X X X
Thl-2:
( ) :
[ ]
103 2022-D036009 ko-4




Tbl-3:
2.5
050
110
110
& i
°
°

3
[ ]
31 TPY
32 TPY
TP*
3.3
3.4

ko-5

2022-D036009

:03




WITTENSTEIN  alpha

103

[ ]
[ ]
®
. (B) (A)
° . (H," -4" )
. (H)
[ ]
( )
H
' [ ]
J
K
L
Tbl-4
® :
- TP* 025 28mm ( )
TP* 050 > 28mm
° (F) (. Loctite 243)
° (F) (D) (B)
° (] (H)
: 12.9
8.8
39 " g
° (H)
° (B) (A)
-5"

2022-D036009 ko-6



[mm] S 8 10 12
[Nm] 10 35 50 70
Tbl-5:
3.5
[
[
[
(. Loctite 243).
[
®
® ( . ’ ) -
@ 3'10 " n " _9"
3.6
&
[ ]
!
® 3.11 n n " _10"
3.7
[ ] .
- -15°C +40 °C
- +90 °C
3-13 n n
[ ]

ko-7 2022-D036009



3.8

3.9

(NSF-H1 )

Castrol Industrie GmbH, Ménchengladbach

1+ 49 2161 909-30
www.castrol.com

Kliber Lubrication Miinchen KG, Miinchen

:+4989 7876-0
www.klueber.com

103

Tbl-6:
H f]"‘il“"\ I H
| ( )
A J
K
J Q K
Tbl-7:
(Nm]
TP* (H)/ DIN [mm] N]
g “x” ISO 4762 129 8.8
(mm C oy lc )
004 1 x<11 M4 3 4.1 2,8 100 10
11< x <14 M5 4 9,5 5,6
14< x €19 M6 5 14 9,5
2 x<11 M4 3 4.1 2,8 80 —_
11< x <14 M5 4 9,5 5,6
010 1 x<14 M5 4 9,5 5,6 120 20
14< x <19 M6 5 14 9,5
19< x <24 M8 6 35 23
2 x<11 M4 3 4.1 2,8 100 10
11< x <14 M5 4 9,5 5,6
14< x <19 M6 5 14 9,5
3 x<14 M5 4 9,5 5,6 100 10
2022-D036009 ko-8




3.10

ko-9

[Nm]
TP (H/DIN |  [mm] IN]
@ x| 1S0O4762 12.9 8.8
[mm] y | ¢
025] 1 x<19 M6 5 14 9,5 150 30
19<x<24 | M8 6 35 23
24<x<28| M6 5 14 9.5
28<x<38 | M10 8 79 45
2 x<14 M5 4 9.5 56 120 20
14<x<19| M6 5 14 9,5
19<x<24 | M8 6 35 23
3 x<19 M6 5 14 9.5 120 20
050 x<24 M8 6 35 23 200 50
24<x<38 | M10 8 79 45
38<x<48 | M12 10 135 78
2 x<19 M6 5 14 9.5 150 30
19<x<24 | M8 6 35 23
24<x<38 | M10 8 79 45
3 x<24 M8 6 35 23 150 30
10| 1 X<38 M10 8 79 45 250 | 200
38<x<48 | M12 10 135 78
2 x<24 M8 6 35 23 200 50
24<x<38| M10 8 79 45
38<x<48 | M12 10 135 78
3 X<38 M10 8 79 45 200 50
300| 1 x<55 M12 10 135 78 300 —
2 x<48 M12 10 135 78 250 —
3 x<38 M10 8 79 45 250 —
500 | 1 X<60 M16 14 330 195 300 —
2 x<48 M12 10 135 78 250 —
3 X<38 M10 8 79 45 250 —
38<x<48 | M12 10 135 78
Tbl-8:
TP* /T PcD@ X /
[mm] []x[mm] [Nm]
004 MF 79 8 x 4,5 M4/ 12.9 455
010 MF 109 85,5 M5/12.9 9
025 MF 135 85,5 M5/12.9 9
050 MF 168 12x6,6 M6/ 12.9 15,4
2022-D036009 .03




3.11

103

2022-D036009

TP* / PCD @ X /
[mm] [1x[mm] [Nm]
110 MF 233 12x9,0 M8/12.9 37,3
300 MF 280 16 x 13,5 M12/12.9 126
500 MF 310 16 x 13,5 M12/12.9 126
010 MA 109 16 x 5,5 M5/12.9 9
025 MA 135 16 x 5,5 M5/12.9 9
050 MA 168 24 x 6,6 M6/12.9 15,4
110 MA 233 24 x 9,0 M8/12.9 37,3
300 MA 280 32x13,5 M12/12.9 126
500 MA 285 32x13,5 M12/12.9 126
MA = (High Torque)
Tbl-9:
TP* PCD @ X X [Nm]
/ [mm] [1x[mm]x [mm] 12.9
004 MF 31,5 8xM5x7 9
010 MF 50 8 x M6 x 10 15,4
025 MF 63 12 x M6 x 12 15,4
050 MF 80 12 x M8 x 15 37,3
110 MF 125 12 x M10 x 20 73,4
300 MF 140 12 x M16 x 31 310
500 MF 160 12 x M20 x 31 604
010 MA 50 12 x M6 x 10 15,4
025 MA 63 12 x M8 x 12 37,3
050 MA 80 12xM10x 15 73,4
110 MA 125 12xM12x 19 126
300 MA 145 12 x M20 x 31 604
500 MA 166 12 x M24 x 37 1042
MA = (High Torque)
Tbl-10:

ko-10



3.12

3.13

3.14

ko-11

- VDI 2230 (2003 2

- p =0,10
- 90%
[Nm]
M3 | M4 | M5 | M6 | M8 | M10 | M12 | M14 | M16 | M18 | M20 | M22 | M24
/
8.8/8 1,15|2,64 | 5,24 18,99 | 21,7 42,7 |73,5| 118 | 180 | 258 | 363 | 493 | 625
109/10 (1,68|3,88|7,69|13,2|31,9(62,7| 108 | 173 | 265 | 368 | 516 | 702 | 890
129/12 |1,97(4,55]9,00|15,4|37,3|73,4| 126 | 203 | 310 | 431 | 604 | 821 | 1042
Tbl-11:
http://www.wittenstein-alpha.de
1

(

: www.wittenstein-alpha.de/en/operating-manuals

1MB)

2022-D036009

PDF

:03



A\

WITTENSTEIN @ alpha

WITTENSTEIN alpha GmbH - Walter-Wittenstein-StralRe 1 - 97999 Igersheim - Germany
Tel. +49 7931 493-12900 - info@wittenstein.de




	1 사용 설명서에 대해
	1.1 정보 부호

	2 일반 안전 지침
	2.1 명판
	2.2 사용도
	2.3 합리적으로 예측 가능한 오용
	2.4 품질보증 및 법적 책임
	2.5 일반 안전 지침
	2.6 보관
	2.7 조임 토크 확인
	2.8 유지보수 일정
	2.9 고장

	3 기술 데이터 시트
	3.1 TP+ 의 크기 050까지를 포함한 감속기의 운송
	3.2 TP+의 크기 110부터의 감속기 운송
	3.3 준비
	3.4 감속기에 모터 조립하기
	3.5 기계에 감속기 장착하기
	3.6 출력 측에 장착되는 기계 요소
	3.7 시동 및 작동
	3.8 사용된 윤활제 관련정보
	3.9 모터에 장착 시 사양
	3.10 기계에 장착시 사양
	3.11 출력 측에 장착 시 사양
	3.12 일반 기계에서 공통으로 사용되는 나사 크기에 대한 조임 토크
	3.13 성능 데이터
	3.14 보충 정보




